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YEAR 12 GEOGRAPHY

1999
Part 1:
Part 1 is comprised of 20 multiple choice questions (20 marks) and an objective section (20 marks).

Instructions to Candidates:
Time Allocation

Reading time before commencing this work:

10 minutes

Working time for paper:




3 hours

Material Required/Recommended For This Paper

TO BE PROVIDED BY THE SUPERVISOR

This Question/Answer Booklet containing:


Question Booklet (Gold) for Parts 2, 3 and 4


Broadsheet

TO BE PROVIDED BY THE CANDIDATE

Standard Items:
Pens, pencils, eraser or correction fluid, ruler.

Special Items:
Appropriate drawing and measuring instruments (including coloured pencils and string)  and calculators satisfying the conditions set by the Secondary Education Authority.




NOTE:
Atlases are not permitted.

IMPORTANT NOTE TO CANDIDATES

No other items may be taken into the examination room.

It is your responsibility to ensure that you do not have any unauthorised notes or other items of a non-personal nature in the examination room.  If you have any unauthorised material with you, hand it to the supervisor BEFORE reading any further.

PART 1:
MULTIPLE CHOICE



Tick the appropriate box.  Each question is worth 1 (one) mark.

Candidates should attempt ALL questions.

1.1 The correct grid reference for the square containing MOUNT OAKOVER is:


7812


1278


7911


1178

1.2 Which one of the following grid references (GR) best identifies the location of the JACK MANN OVAL (located in the south-western corner of the map)?


GR 738067

GR 073742


GR 742073

GR 067738

1.3 The feature located at GR 058774 is most likely to be an example of:


An estuary


A delta


A gorge

An oxbow

1.4 Which one of the following best identifies the latitude  and  longitude of the summit of MOUNT OAKOVER?


31049’05”S;  116003’45”E


31050’15”S;  116006’15”E


116003’45”E;  31049’05”S

116006’15”E;  31050’15”S

1.5 The distance along the railway between its intersection with Toodyay Road (GR 079738) and its intersection with Padbury Avenue (GR 078797) is nearest to:


4 kilometres


6 kilometres

10 kilometres

25 kilometres

1.6 If a train travelled between the two intersections described in Question 1.5 at a speed of 90 kilometres per hour, the time it would take to cover the distance would be nearest to:


4 minutes


6 minutes


12 minutes


15 minutes

1.7 Which one of the following sections of Toodyay Road has the steepest slopes?


Between eastings 07 and 08


Between eastings 09 and 10




Between eastings 11 and 12




Between eastings 16 and 17

1.8 Which one of the following map grid references correctly identifies the location of the feature indicated at A on the photograph?


GR 743106


GR 101732


GR 106743


GR 099745

1.9 A small circular-shaped contour line exists adjacent to the Swan River at GR 057798.  Its most likely value would be:


0 m a.s.l.


5 m a.s.l.


10 m a.s.l.


Insufficient information provided to tell

1.10 People who build houses in bushfire-prone areas are advised by the authorities to:

· avoid the northern side of hills which are exposed to north winds;

· avoid hilltops, as fires move more quickly up steeper slopes;

· build to the south or west of water bodies;

· keep clear of forests

STUDY the locations B, C, D and E on the map.  With reference to the above criteria, WHICH LOCATION would provide the safest home site?



Location B



Location C



Location D



Location E

THE QUESTIONS WHICH FOLLOW DO NOT RELATE TO THE MAP EXTRACT

1.11 Urbanisation is best defined as:

The movement of people between 

towns and cities

The increase in the proportion of the 

population resident in  towns and cities

The increase in the population of 

towns and cities

The increase in residential population 

density in the city centre and 

inner suburbs

1.12 A baker in a country town will probably cease to be profitable if:

Land use competition in the main 

street becomes more intense

A threshold population for its bread 

becomes located beyond the range of 

that product

The functional complexity of the town 

is diminished

The range of the product increases to 

encompass a threshold population

1.13 Which one of the following is a functional region?

Metropolitan Perth


The Great Western Plateau

Western Australia’s mixed crop 

and livestock belt


The Swan-Avon river system

1.14 Figure 4 on side II on the BROADSHEET shows the concentration of an important component of Perth’s population.

The concentration depicted in Figure 4 most likely consists of:


People aged between 0 and 14 years



People born in Southern Europe



People aged 65 years and over



People born in Southeast Asia

1.15 The most important cause of the dispersed nature of Australia’s rural settlement is:

Most country towns provide a limited range of 

services


physical security is improved as a result


most farms are family concerns

farms are generally large

1.16 The internal (functional) morphology of a city is best described as:

The processes by which land uses within the 

city change over time

the study of the boundary shape of the city

the attraction of land uses toward the central 

core of the city

the location and organisation of land uses within

the city

1.17 Study figures 1, 2 & 3 on the back of the map extract.  Mallee (Fig 2) appears to have similar rainfall and soil requirements to:

Jarrah Forest


Eucalypt and Acacia Woodland


Wandoo Woodland


York Gum and Salmon Gum Woodland

1.18 Apart from the coastal sands bordering the ocean, the most infertile soils of the swan coastal  plain are the:


Bassendean Sands


Pinjarra Plain Loams


Spearwood Dune Sands


River Alluvium

1.19 The Eastern Highlands are termed “Highlands” rather then “Mountains” because they are:

Really a series of tablelands or plateaus


Under 1500m above sea level

Only snow-covered in winter

Caused by folding and faulting

1.20 Compared to Perth, Sydney’s summer climate is usually:

Hotter, wetter and more humid

Hotter, drier and less humid

Milder, wetter and more humid

Milder, drier and less humid

End of the Multiple Choice Section

Objective Section

Attempt all questions.

Answer all questions in the spaces provided.

1.21 IMAGINE that you are standing on the bend of Toodyay Road at GR 106763 near the Neuman Road turn-off, and looking north along the road that leads to the Pioneer Quarries.

IDENTIFY two cultural features that you can see within one kilometre on the West of the road to Pioneer Quarries:

FEATURE 1:___________________________________________________________________

FEATURE 2:___________________________________________________________________

IDENTIFY two physical features that you can see within one kilometre on the East of the road to Pioneer Quarries:

FEATURE 1:___________________________________________________________________

FEATURE 2:___________________________________________________________________

(2 Marks)

1.22 The information on the topographic map extract is correct for 1979, whereas the photograph was taken in 1995.

Using map and photographic evidence, IDENTIFY two changes to the cultural landscape that have taken place between 1979 and 1995, within the area covered by the photograph.

Change 1:_____________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

Change 2:_____________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

(1 Mark)

1.23 STUDY figure 1 on Side II of the BROADSHEET.

IDENTIFY two factors and STATE how each influences the distribution of rainfall in the South Western Study Area.

Factor 1:​​​​​​​​​​​​______________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________


Factor 2:______________________________________________________________________


_____________________________________________________________________________


_____________________________________________________________________________

 (2 Marks)

1.24
COMPARE figure 1 and figure 2 on Side II of the BROADSHEET.

STATE one relationship between the distributions of rainfall and of vegetation  in the South Western Study Area.

Relationship:___________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

(1 mark)

1.25
COMPARE figure 1 and figure 3 on Side II of the BROADSHEET.

STATE one relationship between the distributions of rainfall and of soils in the South Western Study Area.

Relationship:___________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

(1 mark)

1.26
COMPARE figure 2 and figure 3 on Side II of the BROADSHEET.

STATE one relationship between the distributions of vegetation and of soils in the south Western Study Area.

Relationship:___________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

(1 mark)

 1.27



Topography
A. Plains of volcanic origin

B. Undulating plateau surface with rock outcrops

C. River flood plains separated by mountainous promontories

D. Sandy and stony desert

E. Undulating alluvial plains

Climate

F. Hot summers, warm winters, rain all year (Rain 2200mm)

G. Hot summers, cool winters, erratic rainfall (Rain 125mm)

H. Cool dry summers, cold wet winters (Rain 700mm)

I. Hot dry summers, mild damp winters (Rain 350mm)

J. Hot summers, mild winters, rain all year (Rain 370mm)

Vegetation
K. Eucalypt woodland

L. Sclerophyll forest

M. Rain forest

N. Savanna woodland

O. Desert scrub and shrub

DESCRIBE the topography, climate and vegetation of each locality by CHOOSING the correct identifying letters provided below the map, and PLACING them in the appropriate boxes below.

	LOCALITY
	TOPOGRAPHY
	CLIMATE
	VEGETATION

	1.
	
	
	

	2.
	
	
	

	3.
	
	
	

	4.
	
	
	


(3 marks)

1.28
DESCRIBE, in sentences, three characteristics of Australia’s population distribution.


Characteristic 1:________________________________________________________________


_____________________________________________________________________________


_____________________________________________________________________________


Characteristic 2:________________________________________________________________


_____________________________________________________________________________


_____________________________________________________________________________


Characteristic 3:________________________________________________________________


_____________________________________________________________________________


_____________________________________________________________________________

(3 marks)

1.29
IDENTIFY two major characteristics of Perth’s inner mixed zone.

Characteristic 1:________________________________________________________________


_____________________________________________________________________________


_____________________________________________________________________________


Characteristic 2:________________________________________________________________


_____________________________________________________________________________


_____________________________________________________________________________

 (1 mark)

1.30
LIST two characteristics which can be used to indicate the socio-economic status of the population of a Perth suburb.

Characteristic 1:________________________________________________________________


Characteristic 2:________________________________________________________________

 (1 mark)

1.31
DEFINE the process of inertia and PROVIDE  an example from the Perth Metropolitan Area.

Definition:_____________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

Example:______________________________________________________________________

_____________________________________________________________________________

(2 marks)

1.32
LIST four characteristics of Perth’s central business district.
1.____________________________________________________________________________

2.____________________________________________________________________________

3.____________________________________________________________________________

4.____________________________________________________________________________

 (2 marks)

END OF THE OBJECTIVE SECTION

 QUESTION BOOKLET FOR PARTS 2, 3 AND 4

GEOGRAPHY
CANDIDATES SHOULD ANSWER THREE QUESTIONS, ONE FROM EACH PART.

Part 2:

Landscapes and Land Use in Australia (20 Marks)



Attempt Questions 2.1 OR  Questions 2.2

Part 3:

Settlement Patterns (20 Marks)


Attempt Questions 3.1 OR Questions 3.2.

Part 4:

Urban Australia (20 Marks)


Attempt Questions 4.1 OR Question 4.2

Write your answers to Parts 2, 3 and 4 in the Question/Answer Booklet.
The map below shows the boundaries of the four Study Areas.

YEAR 12 GEOGRAPHY STUDY AREAS
MAP A FOR QUESTION 2.1 OR QUESTION 2.2
GEOGRAPHY QUESTION BOOKLET

PART 2:

LANDSCAPES AND LAND USE IN AUSTRALIA
ANSWER EITHER QUESTION 2.1 OR QUESTION 2.2

Question 2.1:


SELECT ONE of the following agricultural activities which you have studied in the South Western Study Area:
· Intensive pastoralism (dairying or sheep/cattle for meat);

OR

· Intensive cropping (market gardening or orcharding or viticulture);

OR

· Mixed crop and livestock (sheep and cereals)

(a) On Map A (page 14) in the QUESTION/ANSWER BOOKLET:
(i) NAME AND MAP THE LOCATION  of the agricultural activity of your choice;

(ii) NAME and LOCATE TWO population centres OR localities within the area(s) occupied by the activity.

(4 marks)

(b) IDENTIFY FIVE major inputs (physical and/or cultural) related to this activity, and ASSESS the relative importance of each.

(10 marks)

FOR EITHER A MINERAL OR ENERGY RESOURCE YOU HAVE STUDIED:

(c) ASSESS the environmental impact of this activity.  Refer to specific examples.
(6 marks)


OR

Questions 2.2:


SELECT a mining/energy resource you have studied.

(a) Map the major resource location(s) associated with it on MAP A

(2 marks)

(b) IDENTIFY and ACCOUNT FOR six characteristics of the CULTURAL LANDSCAPE resulting from this activity.

(12 marks)

(c) Select two agricultural activities you have studied:

ONE in the South Western Area AND

ONE in another Study Area

(d)
Compare and contrast the cultural landscapes resulting from each activity.

(6 marks)

GEOGRAPHY QUESTION BOOKLET

PART 3:

SETTLEMENT PATTERNS

ANSWER EITHER QUESTION 3.1 OR QUESTION 3.2

Question 3.1:


(a) DIFFERENTIATE between dispersed settlement and nucleated settlement.
PROVIDE an Australian example in each case.

(4 marks)

(b) GIVE ONE example of EACH of the types of nodal settlement listed below and DESCRIBE THREE essential functions:
(i) of a farmhouse/homestead;
(ii) of a town which distinguish it from a farmhouse/homestead;

(iii) of a metropolis which distinguish it from a town.

(9 marks)

(c) EXPLAIN why Australia’s population distribution is characterised by primate city dominance in most, but not all states.

(7 marks)


OR
Question 3.2


(a) Provide FOUR FACTORS that helps explain why some Australian capital cities have developed into primate cities.

(4 marks)

(b)
Define each of the following terms.  ILLUSTRATE your answers with detailed examples from the South Western Study Area.

(i) urban network;

(ii) urban hierarchy;

(iii) hinterland;

(iv) functional complexity.

(8 marks)

(b) What is meant by the terms range and market threshold?  Explain how these may account for the decline in functional complexity of some WA towns.

(8 marks)

GEOGRAPHY QUESTIONS BOOKLET

PART 4:

URBAN AUSTRALIA

ANSWER EITHER QUESTION 4.1 OR QUESTION 4.2

Question 4.1:


For a large Australian country town which you have studied:

(a) DRAW a large, fully labelled sketch map to show:

(i) its external morphology and annotations that indicate any two physical & two cultural factors that have influenced the external morphology; 

(ii) the location of major land uses within the town

(6 marks)

(b)
COMPARE and CONTRAST the land use characteristics of the inner mixed zone and the rural-urban fringe of Perth.

(6 marks)

Figure 6 on the BROADSHEET may be of assistance with this question.

(b) For Perth’s established residential zone AND newer growth zone:
(i) DESCRIBE the age-sex structure of the population; and

(ii) DISCUSS how the age-sex structure affects the provision of services.
(8 marks)


OR
Question 4.2


STUDY Figure 6 on Side II of the BROADSHEET

(a) DESCRIBE THREE major characteristics of population change in the Perth Metropolitan Area between 1986 and 1991.

(3 marks)

(b)
(i)
EXPLAIN how population change in the Perth Metropolitan Area may contribute to the 

following urban problems:

· provision of adequate services and amenities;

· provision of sufficient employment opportunities;
· traffic congestion;
· land use conflict.
(8 marks)

(ii)
DISCUSS the strategies which have been or  might be adopted  to  address the problems you have chosen.

(4 marks)

(b) IDENTIFY a large Australian country town which you have studied.

(i) DRAW a fully labelled sketch map to show:

· the external morphology of the town;

· the major physical and/or cultural factors which have affected its shape.

(5 marks)










QUESTIONS ATTEMPTED IN


PARTS 2, 3 AND 4
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